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28(3H%) BERE A A H26.2.5 FRIE =
15(1.5) LA A H26.2.5 E -
18(2.5) FAHA H26.2.5 BIE -
15(2.4) BIILARAYA H26.2.5 BIE =
15(1.6) BEREASA H26.2.5 FEE =
15(2.3) FLAA H26.2.5 SBTE -
15(1.0) FLAHA H26.2.5 SAIE =
18(2.0) OEAA H26.2.5 FE -
15(2.0) NEAA H26.2.5 =BTE N
15(2.5) MEEEAA/ H26.2.5 FBiE -
18(1.0) FLAA H26.2.5 EE =
15(1.6) INEMA H26.2.5 T =
15(3.0) B IEA A H26.2.5 AR -
150.7) BEREAY A H26.2.5 SRE =
15(1.5) LA H26.2.5 2E -
15(2.8) ELAA H26.2.5 FOIE -
25((1H%) REBLAYA H26.2.5 'Eﬁ: -
18(3.0) REH A H26.2.5 ARIE -
15(3.0) Bz H26.2.5 FOIE =
15(2.8) FLAA (AT T H26.2.5 2T -
45(1.8) LA A H26.2.5 BE -
15(1.5) ILAA H26.2.5 ERIE -
18(2.3) FA A H26.2.5 BE -
15(1.2) EHA D Tyk) H26.2.5 FOTE -
18531.7) FLAA H26.2.5 EE -
15(1.8) FLAA H26.2.5 FRIE -
15(3.3) INE A A H26.2.5 BE -
43(1.5) TIHEEA A H26.2.5 R =
25(B3HE)) BISZARA A H26.2.5 ;EE -
15+28 3401 B#)) EHRES H26.2.5 BE -
25 (1B #) FLAA H26.2.5 B -
15(2.3) BIILAR DA/ H26.2.5 AE =
1E+28(4.02B81&)) FREE E A A H26.2.5 BIE =
15(2.5) BIILARDA H26.2.5 FRIE -
45(1.2) A A H26.2.5 BIE =
15(1.3) FEHEIA H26.2.5 FAE =
15(2.6) ELAA H26.2.5 FOTE N
28 (1 B1&)) HIILIRDS A H26.2.5 EE -
1527 BED A H26.2.5 FAE N
15(1.0) fAS A H26.2.5 FOTE =
25((3H%) BEEAA H26.2.5 BE -
1822 EEHA H26.2.5 FATE =
158(1.7) i HY A H26.2.5 FOIE -
[15(2.6) BEHS A H26.2.5 SRE =
18(1.5) FFF 40 A 22 H26.2.5 B N
454001 B#) BEA A H26.2.5 PEE -
12(2.5) FERS A A H26.2.5 FFE -
25 (3E®) DA H26.2.5 EE -
1827 OfEHNA ., TIHEEN A ., FIEEEAA H26.2.5 BE &
15(1.8) ATHRRRE. BFIE H26.2.5 RE -
15(2.0) BiEh A, HEEEDA H26.2.5 EE -
25((3B#)) BRERAA L FLAYA H26.2.5 B -
15(2.6) BRERA A H26.2.5 FRIE -
15(2.8) BENA. THEAA H26.2.5 2 -
15(1.6) SEEE kT B IR H26.2.5 EE =
18(1.8) EE PN H26.2.5 R =
15(3.0) L PIAVEACN ) H26.2.5 FATE -
25((1H#&) B/ \E H26.2.5 FRTE -
15(3.0) R AUEIREE H26.2.5 2T -
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15(1.2) BB H26.2.5 S IE =
15(1.5) FRARIEBE (R TAE H26.2.5 S iE =
15(1.6) IDFAEE H26.2.5 EE =
28(&H) DFAEE H26.2.5 EE =
15(2.0) IDEAEEE H26.2.5 RIE -
15(1.6) IDERIEE H26.2.5 BT :
15(1.5) IDFAEE H26.2.5 BIE -
15(2.5) BHA H26.3.5 FRIE -
15+285(3.328%) i AY A H26.3.5 FRIE =
15(3.0) KA A H26.3.5 EE ~
15(2.5) KBH A H26.3.5 BATE -
15(2.0) BHA L BENA H26.3.5 FAE E
15(1.2) KEEH A H26.3.5 2E =
15(2.8) KEBHA H26.3.5 FATE =
25 (28 #)) KA A H26.3.5 2FE -
15:(2.5) BAA, BEENA H26.3.5 FAIE -
15(1.8) KBH A H26.3.5 FOTE =
15(1.2) BAA H26.3.5 BE =
25(1HE) Kighi A H26.3.5 RE &
2E((1B ) BAA H26.3.5 RIE =
15(2.3) BENA H26.3.5 RIE =
15(2.5) T AR H26.3.5 FRIE ~
15+25(4.038#)) BHA H26.3.5 BE —
15(2.6) KEEH A H26.3.5 FAE
15(1.0) KA A H26.3.5 RIE
15(3.5) BHA H26.3.5 BIE =
18(1.5) BAA H26.3.5 BIE -
25((1B#) B E H26.3.5 BT —
15+22(4.0281#)) BHA H26.3.5 FBIE -
18(1.2) BAA H26.3.5 FOIE -
15(1.3) BT #A R 22 H26.3.5 R —
15(2.0) BAA H26.3.5 I, -
15(3.4) KEHA H26.3.5 S IE. -
15:(3.0) KEEH A H26.3.5 FBIE =
12+28(2.0281)) T %M A 22 H26.3.5 FRIE -~
45(2.0) KBEH A H26.3.5 FRIE -
15:(3.0) + =15 FLEE R YA H26.3.5 FAE -
25((3HER) BENA H26.3.5 FRTE e
18+28(4.5(18)) BT $H AR 2= H26.3.5 RE —
1E8+25(4.028#)) BHA H26.3.5 FAIE -
158(2.0) KEHA H26.3.5 FATE -
15(2.5) BiEHA H26.3.5 2T -
1E+25(3.0(78 ) KIEHA H26.3.5 2 -
15(2.3) KEEHA H26.3.5 BT -
18(2.2) KBHA H26.3.5 2 =
1501.2) BAA H26.3.5 T =
15(1.8) A 2 H26.3.5 e -
15(2.0) KiBH A H26.3.5 FOTE -
15(2.2) B A H26.3.5 RIE =
1801.7) KigHt A, BHA H26.3.5 RIE -
15(1.6) KEBHA H26.3.5 FATE -
185(3.2) KIBH A H26.3.5 EE -
1E+28(3.3(1 B #)) KA H26.3.5 FRIE -
15(3.0) KEEH A H26.3.5 RE -
25((281%)) KEHA H26.3.5 FOIE =
115(3.0) KiEH A H26.3.5 RE =
18(1.5) BHA H26.3.5 FRIE =
15(1.3) BAA H26.3.5 FRIE -
45(3.0) BENA H26.3.5 FRIE -
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2E(18#) KL A H26.3.5 BTE =
15(3.5) Bl A H26.3.5 FAIE =
18(1.1) KiEHA H26.3.5 EE =
15(2.0) KEHA H26.3.5 SBIE =
45(1.6) BEHNA H26.3.5 FOAE -
15(2.0) FF PR RE & H26.3.5 R =
25((3H &) BEAA H26.3.5 FBIE &
15+25(3.5(H 8)) FEEAA H26.3.5 RE =
2528 #%)) KN A H26.3.5 R =
2528 #)) BEAA H26.3.5 B =
15(1.6) KN A H26.3.5 BIE =
15(1.5) KEBHA H26.3.5 BE =
15(2.0) KEEH A H26.3.5 FASE =
15(2.3) PEEHNA H26.3.5 FRTE =
15(3.3) KD A H26.3.5 FE -
15(1.8) B A H26.3.5 I -
15(3.0) P A i H26.3.5 IE =
15(2.4) fEEAVA H26.3.5 RIE &
15(2.3) FFHREEE. KiEH'A H26.3.5 FRIE
18(1.5) R AR Rz H26.3.5 ZE
15(1.8) B4 H26.3.5 PE =
15(1.1) BAA H26.3.5 FOIE =~
2E(HH) MDA H26.3.5 RIE ~
18(2.5) BAA H26.3.5 BRE -
2E((1A&)) BENA H26.3.5 BE -
25 ((2H%) T R fe = H26.3.5 FRIE =
15(2.8) BHA H26.3.5 FATE -
18(3.0) FF AR 22 H26.3.5 BIE -
15+25(3.201H%) FFFHR Re 22 H26.3.5 2IE =
18(2.3) KEBH A H26.3.5 EE =
15(1.8) BEMNA H26.3.5 AIE =
25((18#) A A H26.3.5 BTE -
18(2.0) BEAA H26.3.5 T =
15(1.7) KEEH A H26.3.5 FSE =
15(2.3) BENA H26.3.5 FATE =
25((1H)) BHA H26.3.5 EE -
15(1.8) A As H26.3.5 BT -
1E2+284.1(1 B1%)) HAKRA A H26.3.5 FAIE. =
15(2.0) A H26.3.5 EE -
25 (3H%) fifi Y As H26.3.5 EE =
15(4.1) BIILAEA A H26.3.5 FATE =
25 (7B #)) fmAYAs H26.3.5 EE -
15(3.6) & AA H26.3.5 T -
2E((4B 1)) FLAA H26.3.5 FATE -
2E(6818)) WREEAA H26.3.5 2E =
45(5.0) KEH A H26.3.5 SBIE =
15(2.3) Bt /B H26.3.5 SBIE -
1801.8) AMEHEMTamnE H26.3.5 FAIE. =
18(1.5) EMERBRERE H26.3.5 EE -
15(1.5) o E AN A =TT H26.3.5 SRIE =
15(2.6) B NE H26.3.5 FATE -
1801.7) R AE R H26.3.5 EE -
15(2.0) EEHMA H26.4.8 EE -
15(2.0) RE DA H26.4.8 B2IE -
12(2.6) FLAA H26.4.8 FATE =
15(3.4) OREA A H26.4.8 BE =
18(1.2) BENA H26.4.8 SO IE =
15(2.1) fifiAY Ay H26.4.8 SOIE ~
18(3.5) fifiAS A H26.4.8 2T =
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22((18#)) fifiHt A H26.4.8 FRIE =
15(2.5) fifi HY A H26.4.8 FRTE -
15(0.8) fili A% Ay H26.4.8 FOIE 1
18(1.2) A A H26.4.8 BEE -
25 ((3H 1)) BhHA H26.4.8 FATE -
15(2.4) HISLARAA H26.4.8 FRTE =
18(3.2) BEAA DI YR) H26.4.8 BATE =
15+25 (3.3 H)) FLAA H26.4.8 BT =
15(1.3) fiih A H26.4.8 FATE =
18+25(2.7(28 %)) BEREAY A H26.4.8 FRE
15(2.8) EEHA H26.4.8 FASE -
18(1.5) REHA H26.4.8 FRTE =
1E(2.5) ZLAA H26.4.8 RE -
15(1.8) BEREAYA H26.4.8 I
15+28(3.4(18&)) fifihvAs H26.4.8 FOIE
15(3.5) ZLAA H26.4.8 RE =%
15(2.0) LAA H26.4.8 FBE =
15(2.4) BEREATA H26.4.8 PATE =
15(2.0) BhA H26.4.8 BE =
15(2.0) FLAYA H26.4.8 FAIE =
18(3.1) ffiAsAs H26.4.8 PE -
15(3.0) BEBEAYA H26.4.8 B
18(3.0) BEBEA A H26.4.8 FOTE =
1801.7) FEENA H26.4.8 RIE -
15(2.5) BEBA A H26.4.8 FRIE -
15(1.5) ELAA H26.4.8 BE =
15(1.5) ZLAHA H26.4.8 FRIE =
15(2.9) fAtA H26.4.8 FRTE &
18(3.3) At At As H26.4.8 RIE =
15(1.3) fifiHs A H26.4.8 FRE -
1201.7) FEEHLA H26.4.8 A =
18+22(3.71 B #)) FLAHA H26.4.8 FRIE &
15(2.4) BEBA A H26.4.8 FATE -
18(2.6) A A H26.4.8 FE -
2518 #)) REREAA H26.4.8 FATE x
4228 %)) AIILARAYA H26.4.8 FRTE =
15(2.0) foR H26.4.8 ATE -
15(2.4) ffiAsAs H26.4.8 BEAIE. =
25 (1B#)) B A H26.4.8 FATE =
15(1.5) FLAHA H26.4.8 BIE -
45(1.8) A hYAs H26.4.8 ATE =
45(1.8) fhih A H26.4.8 FOIE =
15(2.0) BISZLERDSA . BEREAY A H26.4.8 BE -
15(2.5) ZLAA H26.4.8 FATE N
15+28(3.7(%5 H)) BIALIEASA H26.4.8 FATE o
12(2.5) B R e H26.4.8 FRIE =
25 ((18#&) i hS A H26.4.8 ZE =
15(1.8) BIILARANA H26.4.8 BSE -
15(2.6) BEHILA H26.4.8 FRTE =
2E((1B#)) fihtA H26.4.8 E -
ﬁ;(s.z) BENA H26.4.8 F2IE =
1801.2) ffiA A H26.4.8 FBIE =
15(2.5) BIILIRAA H26.4.8 FAIE =
15+22(3.09H %) BIILIRASA H26.4.8 RIE =
2E5((HA) BISLARAA H26.4.8 B3E =
28 (3H%) BISLIRAA H26.4.8 FATE -
15(1.4) BIILARA A H26.4.8 BE ~
18(1.5) BISZARDYA H26.4.8 FEIE -
15(1.3) BISLARDA H26.4.8 FASE -
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15(2.4) BISLARDYA H26.4.8 FAIE -
18(3.2) BISLARAYA H26.4.8 FRIE .
15(1.7) BISLARD A H26.4.8 BIE -
25((18#) BISLIRA A H26.4.8 BAE. -
18(25) BIIZIRAYA H26.4.8 BE =
15(2.5) BEREAY A H26.4.8 BIE —
45(2.5) B IRA A H26.4.8 BIE -
25 (HH) BHA H26.4.8 FBIE -
15(3.0) BISEARA A H26.4.8 BIE -
[18(1.5) At A H26.4.8 2 =
12(1.5) BISZARD A H26.4.8 ERIE =
15(2.0) At A H26.4.8 =B IE —~
15(3.0) A A A H26.4.8 SBIE
18(1.5) BEMNA H26.4.8 2FE -
15(1.6) BISLRRA A H26.4.8 T N
15+25(3.1281%)) ffiAtAs H26.4.8 BE
1-5(3.0) fiti A As H26.4.8 BT =
25 ((1H#%) BIZAENYA H26.4.8 FBE =
18(2.0) fifiHY A H26.4.8 FATE ~
25((18%) [ H26.4.8 =BT -
15(2.5) FLAHA H26.4.8 §BIE -
18(3.3) Bt A% A H26.4.8 PARE =
15(3.2) i 3 As H26.4.8 R =
15(2.0) AN A H26.4.8 FATE -
15(2.8) ffiAs A H26.4.8 AT
15(2.8) HEEEASA H26.4.8 BIE
18(3.0) B ARD A H26.4.8 S IE. -
18+25(5.001 B#)) fitiht A H26.4.8 R =
25 (1B #) [RETBHEI’A EHEEERX) H26.4.8 FOIE -
25 (4 H)) BILARA A H26.4.8 EE -
15(1.5) fifihY A H26.4.8 T =
15+286.0EH) BB AN A RIALRRASA H26.4.8 FOIE -
15(1.6) hIFEEEAYA H26.4.8 PIE -
25(28#%)) BAA H26.4.8 B -
18(3.3) i A A H26.4.8 AE =
15(1.5) BISLARAYA H26.4.8 EEE -
15(3.0) fifihs Al H26.4.8 BRTE =
18(2.0) i A A H26.4.8 ,,Eﬁ —=
15(1.5) TIHEEA A H26.4.8 BE -~
2B(&18) fAA H26.4.8 .,EE -
15(2.3) OfEA A H26.4.8 BE -
15(1.2) FREE E A A H26.4.8 aﬂi —
45(3.2) FEE- I H26.4.8 BiE =
18(2.0) [EHEAFBHEISA H26.4.8 FOIE -
15(3.0) fihiA . KEBH A H26.4.8 BE -
15+25(4.0&8) KM A BIILIRH A H26.4.8 nﬂ'ﬁz -
25 ((48) BiEHA H26.4.8 FOTE -
45(4.038)) XBHA H26.4.8 sEE =
25 (1H%&) AT fRaE . BEREASA H26.4.8 RIE -
2548 18) BISLARAY A H26.4.8 BIE -
42(1.2) KEBHA H26.4.8 S AE. -
15(1.6) DEBE. T ZEBIA H26.4.8 BEE =
15(1.0) fRiElE H26.4.8 BIE =
15(5.0) EEAA H26.4.8 FRTE -
15(4.5) BIILARA A H26.4.8 EE =
15(3.0) ;E*E )2 \[E H26.4.8 EE -
[15(1.3) B/ \jE H26.4.8 R -
18(1.7) ?lbcﬂ%ﬁk EIETIE H26.4.8 FOIE -
45 ((18#)) BRIEBEEETE H26.4.8 BE -
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25((1H%) HIRIRHEREETE H26.4.8 B -
15(2.0) FFiEZE H26.4.8 FATE =
15(2.0) FFIEZ H26.4.8 FATE -
15(4.5) P Re 2 H26.3.14 HTF 1
15(5.0) B K AR R H26.3.14 HTF T,
380 BB, KIRRE H26.3.14 H}F 1
15(3.6) BE H26.3.14 T 1
15(4.0) BAY H26.3.14 T 1
25 (48 #)) FLEE H26.3.14 HTF 2
15(4.0) KR ZLEEE H26.3.14 #HT 1
18(3.6) HISLARA > H26.3.14 HTF 1
15(4.0) & TIHSE#E H26.3.14 HTF 1
15(4.0) FFRREEE H26.3.14 #HTF 1
18(9.2) BRERBE R H26.3.14 HTF 1
25((&8) GERBIE P O EARFAERE H26.3.14 HTF 1
380 (M) BAE H26.3.14 HT 1
350 BN E H26.3.14 HT 1
15(2.3) BRE H26.3.14 HF 1
15(3.0) [RIBtE D AREE H26.3.14 HTF 1
18(4.0) IDFHIRE H26.3.14 T 1
15(2.8) EEMLESER H26.3.14 HTF 1
18(2.7) AR EE H26.3.14 HTF 1
2528 %) Fuko2Svh—RaE H26.3.14 HF 1
15(4.0) fi&iE, SiE H26.3.14 HT 1
15(3.6) AIALARA > H26.3.14 HT 1
350 FEbtEE H26.3.14 HTF 1
350 SRt H26.3.14 HTF 1
15(4.5) BIILRRTE H26.3.14 HF 1
25108 ) BEBEEE . BIILARE H26.3.14 HF 1
380 AL HREE H26.3.14 HTF 1
350 EIE H26.3.14 HF 1
15(4.4) HIILRR H26.3.14 HF 1
350 BEHA H26.3.14 HTF 1
25 (98 1#) . MEEESEE. HIAERY >/ \EiELTS H26.3.14 HF 1
25 ((11B#) FFF #H R 2 H26.3.14 HF 1
18(4.5) itk H26.3.14 0T 1
25 (108 #)) BIAEE H26.3.14 HF 1
2E((10HE)) B 5 H26.3.14 HTF 1
15(4.3) BB H26.3.14 HF 1
12(4.1) fifiH A H26.3.14 #HT 1
15(4.0) fifi ez H26.3.14 HF 1
350 iz H26.3.14 HF 1
= Eggfgi%ﬁéﬁi RN e - ;
= A BB AR . MR, BREE. ARE
350 BIRGIEE R R MR, BIEUSA H26314 | HIT L
28((1487%8)) BE. BEE H26.3.14 HT 1
15(9.8) A EEfmE H26.3.14 #HT 1
22108 ) SRt E H26.3.14 HTF 1
154.0) E EERmiRE H26.3.14 HF 1
15(4.1) A £E H26.3.14 #HTF 1
350 BRRIRE H26.3.14 #HTF 1
350 ZHRUEHIE H26.3.14 HIT 1
15(4.0) EEY o N\jE H26.3.14 HTF 1
25((108 ) BATEMEM H26.3.14 HTF 1
25((12B#)) ZREERE H26.3.14 #HT 1
18(4.1) IOV ERAV . BEHY H26.3.14 HTF 1
2= ((6H %)) BEME H26.3.14 T 1
15(3.8) EEE H26.3.14 #HTF 1
15(4.5) KEHA H26.3.14 #HT 1
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417() F=EE H26.3.14 HT 1
15(4.0) IEEDSEIRE H26.3.14 T 1
350 A BiRE H26.3.14 T 1
380 ZHRMEHIE H26.3.14 T 1
15(4.0) SENEERE. BMRE H26.3.14 T 1
22((98 1)) IDFAMEEE., IR EE H26.3.14 T 1
25((14HE) N—=F VIR H26.3.14 T 1
15(3.0) KGN A H26.3.14 T 2
350 GELE. FEE H26.4.8 T 1
18(4.1) BIIILAREE H26.4.8 HT 1
350 LTSGR R H26.4.8 HTF 1
350 Sk H26.4.8 T 1
15(4.1) il H26.4.8 ;T 1
15(4.5) EITHEEE H26.4.8 HT 1
4%E(4.0) SRR H26.4.8 HF 1
15(7.5) FEEREBRR H26.4.8 #HT 1
350 BT 3L R E H26.4.8 HF 1
25 (6B ) KRR ESE L H26.4.8 0T 1
115(3.6) o 4B [FR 6 14 iti E H26.4.8 HTF 1
350 AR EEL H26.4.8 AT 1
45(3.6) BRIRIREEE IR TE H26.4.8 HF 1
15(2.3) KIS BETUESE H26.4.8 HTF 1
25((3B 1)) KRB EEE T, s8R E. BB X H26.4.8 HF 1
350 HEATEEAL X, ZEEBAAE H26.4.8 HTF 1
15(4.5) B A E H26.4.8 HF 1
15(3.3) 2R 2% H26.4.8 HF 1
25 (4B M iE H26.4.8 HTF 1
152.7) FIEME S IOE H26.4.8 #HF 1
15(1.8) FEMESROE DB S H26.4.8 HF 1
15(2.5) TROBREEES, 5017 2L FRE (DEAEE) H26.4.8 HTF 1
15(1.6) BWlME, A—FvhE H26.4.8 HT 1
15(9.2) EEEEJOVY H26.4.8 HTF 1
18:(1.5) IEHEMEEAR 2. BELLOE H26.4.8 HTF 1
15(4.0) FAERIKE. BEBETS H26.4.8 #HTF 1
15(1.8) A8 B BB 2% H26.4.8 #HTF 1
15(4.0) fiod HH M H26.4.8 #HTF 1
2E((2B %) BiEEE. BIRIE H26.4.8 #HF 1
15(1.5) RENARFIEERE . LT KEIARE H26.4.8 #HTF 1
15(2.0) FE R REHEE H26.4.8 #HTF 1
15+25(3.00H#%)) IN—F Y IE H26.4.8 HTF 1
15(1.8) fEBt i ABARE H26.4.8 #HF 1
115(1.8) EBEETS H26.4.8 HT 1
15(1.3) Left angiomyolipoma of kidney H26.4.8 H]TF 1
15(9.8) ER LEEMIES. AEHEENES H26.4.8 HTF 1
350 HIILRR % H26.4.8 #HTF 1
25138 1)) RIILRRA > H26.4.8 #HTF 1
- 1380 BERASA H26.4.8 #HTF 1
350 $Liﬁ* ! H26.4.8 #HT 1
1B41) ﬁ;é?:mé ERFETERTRE. EMEIE . ERFEtE H26.4.8 T i
15(4.5) BELE H26.4.8 HT 1
15(6.5) H EEmE H26.4.8 HF 1
115(3.6) EELHLA H26.4.8 HT 1
25((11B18) HE MR H26.4.8 HTF 1
25 (108 ) B3 IR H26.4.8 HF 1
350 EBE H26.4.8 HF 1
350 B H26.4.8 #HTF 1
350 R R H26.4.8 HTF 1
15(4.7) HITE I A H26.4.8 HF 1




HRTERK 1 . BIRE naE
350 Colorectal Cancer H26.4.8 HT 1
350 B H26.4.8 #HT 1
15(4.2) RE & fRa = H26.4.8 #HF 1
25108 &) [ &6 £ 18 5 H26.4.8 T 1
15:(5.5) 85 H26.4.8 #F 1
25((13818)) B RE. hE H26.4.8 T 1
15(5.0) BEE H26.4.8 T 1
350 Kigke H26.4.8 T 1
25 ((118%#) BEE H26.4.8 T 1
15(4.0) KRR 22 H26.4.8 T 1
15(4.8) SRR REIRR H26.4.8 T 1
350 EREEM/\JE H26.4.8 HT 1
15(9.8) E o/ \E H26.4.8 T 1
2E((11B#)) ER K B A5 RE TT A fiE H26.4.8 H}F 1
25108 ) B N E H26.4.8 T 1
18(3.6) D i E & F IR AE fiT i H26.4.8 HTF 1
15(9.8) SNLHEE H26.4.8 T 1
15(5.8) FFEEZs H26.4.8 #HF 1
18:(6.1) SR EREY 2 F & 5 H26.4.8 HTF 1
350 Aixi H I #2 38 SiE H26.4.8 HT 1
15(1.0) G LREHNACAE H26.4.8 HT 2
25 (48 #)) EELE H26.4.8 HT 2
[15(2.1) FLE H26.4.8 HT 2
15(2.5) FL#= (pEAl) H26.4.8 HTF 2
15(2.0) HELE H26.4.8 HTF 2
15+25(3.2(1 A1%)) FLE H26.4.8 HTF 2
15(1.5) HEAA H26.4.8 HTF 2
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